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Question Number : 1 Question Id : 70819118844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819161681, ML T’

/ 1
70819161682. Ll

a7 0 )
70819161683, M’ L T']

—~ =]
70819161684, - C ]

Question Number : 1 Question Id : 70819118844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819161681, M LTI

/ 1
70819161682. MLE

a7 070
70819161683, M’ L T']

—~=
70819161684, - C ]

Question Number : 2 Question Id : 70819118845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819161685, 2 m

70819161686, 25 m

70819161687, 22 M

70819161688, 2V m

Question Number : 2 Question Id : 70819118845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161685, 2 m

70819161686, 25 m

70819161687, 2> M

70819161688, 20 m

Question Number : 3 Question Id : 70819118846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

@W :

Options:

70819161689, 28 sind

lj
7
5 g

70819161690, 28 Sin

IUUS
70819161691, /8 Sb
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Question Number : 3 Question Id : 70819118846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161689, 28 sind

.
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70819161690, -8 Sin
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70819161691, /& Sinb
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Question Number : 4 Question Id : 70819118847 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

0.36 m

Options :

70819161693, 100 N

70819161694, 287 N

70819161695, 20 N

70819161696, 029 N

Question Number : 4 Question Id : 70819118847 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options:

70819161693, 100 N



70819161694, 287 N

70819161695. 20 N

70819161696, 029 N

Question Number : 5 Question Id : 70819118848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

P1 1(Py, V1, Ty)

1
Py 2 =constant

2(Py, Vo, Ty)

Options :

70819161697.

70819161698. V2

b2 | =

70819161699.

I

70819161700.



Question Number : 5 Question Id : 70819118848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
&
5
70819161697. J:

70819161698. V2

b2 | =

70819161699.

I

70819161700.

Question Number : 6 Question Id : 70819118849 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement 11 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :



Options :
70819161701. Both Statement I and Statement 1l are true.

70819161702. Both Statement 1 and Statement 1l are false.
70819161703, Statement 1 is true but Statement 11 is false.

20819161704, Statement 1 is [alse but Statement 11 is true.

Question Number : 6 Question Id : 70819118849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819161701, < HIT 1 ST HAT 1 T &

20819161702, 3 FIT 1 IR FHAT 11 W& & €|

20819161703, FIT 1 W&l & W] A 1l HEl T 2|

20819161704, FIT 1 W& & & 0T HET 11 W&l |

Question Number : 7 Question Id : 70819118850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :

A o
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Options :

70819161705.

70819161706.

fm

AR
70819161707.

[ 111
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70819161708. o

Question Number : 7 Question Id : 70819118850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
m

2k
70819161705,



70819161706.
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Question Number : 8 Question Id : 70819118851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y =Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the particle is Y = — and it is moving along negative x-direction. Then the initial phase

angle g will be :

Options :

w| g

708191617009.

5n
70819161710. ©

o4

70819161711.

70819161712. 2

Question Number : 8 Question Id : 70819118851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
el TR Trar I 1 T For T Y = A sin(wt+ ) 21 T t=0 T F0 F faemm

Al = - - - = =
Y = — ¥ 99 T8 FONF 19 F A M ¢ | AR ST FIW ¢y B

Options :
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70819161709, °
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70819161710, ©
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70819161711, ©
2w
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Question Number : 9 Question Id : 70819118852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A d‘.arge ’q’ is placod at one corner of a cube as shown in t’igure. The flux of electrostatic field

-

E through the shaded area is :

AL

X

Options :

q
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70819161713.



70819161714, €0

8cy
70819161715.

70819161716.

Question Number : 9 Question Id : 70819118852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819118853 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Andmtmrwﬂmhmﬂcmm%yK“mmﬁhmwmnpmﬂbIﬁMﬁofampmﬂmatmnmge
‘o’ with the plates. It leaves the plates at angle "B with kinetic energy K,. Then the ratio of
kinetic energies K T K’z will be :

Options :

: cosf3

70819161717, €O5¢

cosfp

70819161718, Sina

sin ZB
cos’a

70819161719.

cos‘zﬁ

COSEE‘E

70819161720.

Question Number : 10 Question Id : 70819118853 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

: cosf3

70819161717, €05«



cosp

70819161718, S«

sin 2[3
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70819161719.
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70819161720, 9% ©

Question Number : 11 Question Id : 70819118854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options :

70819161721, & macroscopic region with zero magnetization.
70819161722 a I‘I'laCI'L'}SCDpiC rr_-gifm with saturation magnefizatinn.

70819161723 a macroscopic region with randoml}f oriented magnetic dipnles.

70819161724, & MAcroscopic region with consecutive magnetic dipoles oriented in opposite direction.

Question Number : 11 Question Id : 70819118854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161722, 9d Fr=hT ol =hlg T &3 |
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Question Number : 12 Question Id : 70819118855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45", If on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819161725, 1 A

70819161726, 1.9 A

70819161727, 2 A&

70819161728, 22> A

Question Number : 12 Question Id : 70819118855 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819161725, 1 A

70819161726, 1.5 A

70819161727, 2

2
70819161728. St

Question Number : 13 Question Id : 70819118856 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options:

70819161729, 209 nm

70819161730. 320 nm

.l
70819161731, o2 nm

70819161732, 400 nm

Question Number : 13 Question Id : 70819118856 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161729, 209 nm

70819161730. 320 nm

¥l
70819161731, 02 nm

70819161732, 400 nm

Question Number : 14 Question Id : 70819118857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819161733. ils s1ze IncCreases, and II‘lf.C‘I‘lSIT.}-' IMcreases

70819161734, ils size increases, bul intensity decreases

70819161735 its size decreases, but intensity increases

20819161736. its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819118857 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161733, R H FlG I A1 AT H Fhg 2 |

20819161734, NPT H FIG BN HT AT T |

70819161735, WP == 94 diFdl | Gl er |

70819161736, I ST QAT Tl =T |

Question Number : 15 Question Id : 70819118858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mp =1836 m,, are moving with the same speed.

A
electron cill s

The ratio of their de Broglio wavelength
Aproton

Options:

70819161737.

70819161738, 1836

70819161739, 1836

70819161740, 218

Question Number : 15 Question Id : 70819118858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



m, R B T TR S m = 1836 m, T F TH W G A M 21

TTHI 2 Al (de Broglie) TGN 1 S = F
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Options:

70819161737 1

70819161738, 1836

70819161739, 1836

70819161740, 218

Question Number : 16 Question Id : 70819118859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photon emitted by a hydrogenatom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819161741, 121.8 nm

70819161742. 194.8 nm

70819161743, 90-7 nm

70819161744, 913.3 nm

Question Number : 16 Question Id : 70819118859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



STESIo WA H ot o % n=2Un=1 %R H THa0 F Ferawy St Her & ques
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Options :

70819161741, 121.8 nm

70819161742, 194.8 nm

70819161743, 490-7 nm

70819161744, 913.3 nm

Question Number : 17 Question Id : 70819118860 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency 'Ifm’ is amplitude modulated with a carrier signal of frequency
‘f.” and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819161745. fe = Jm

C

70819161746, 1¢ © fm

L

70819161747. J

C

70819161748. fm

Question Number : 17 Question Id : 70819118860 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f.erJ 1 %Emi[ EEIE g\_-,ﬁflﬁx; ﬂlﬁnﬂ%ﬁfﬁiﬁﬁlﬁ ﬁ‘ﬂﬂﬁﬁmﬂﬁm
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Options:
C

70819161745. fe = fm

C

70819161746, ¢ T fm

c

70819161747. fe

C

70819161748. fon

Question Number : 18 Question Id : 70819118861 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819161749 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

20819161750. semiconductor will go upwar::l.

20819161751, Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-type semiconductors will go upwar::l for T > TI_- K and

downward for T < TF K, where TF is Fermi temperature.
70819161752.



Question Number : 18 Question Id : 70819118861 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Tt =T rei=er  foru = A= | gfg +7 9 g A

Options:

20819161749, P-TFR & AL H HHI T TR 35 AR n-TFR & AdToH § BT A |

20819161750 p-THR F ATAF H FH-F A4 TR AR 0-TFR F A= § w5 e
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Question Number : 19 Question Id : 70819118862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IL.

List I List II
(a) Rectifier (i)  Used either for stepping up or stepping down the a.c. voltage
(b)  Stabilizer (
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (

if) Used to convert a.c. voltage into d.c. voltage

iv) Used for constant output voltage even when the input voltage
or load current change

Choose the correct answer from the options given below :
Options :
70819161753. {aj'{ii]r {hj'{i]r (C]'(ﬁi]r {d]'{ivj

70819161754, (@)-(i), (b)-(iv), (c)-(1), (d)-(ii)



70819161755, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)

20819161756, @), (b)-(iv), (c)-(1), (d)-(i1)

Question Number : 19 Question Id : 70819118862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T | SR g 11 i e
T =1

(a) Tow=rd (i) a.c deed F ITEE A ATEE FH H I

(b) TR (ii) a.c. A H d.c. Fee | gErd 6 5 9

() ZHEHE (iii) fewega fria deea i Sfiwe 1 ged |§ Iwm

(d) fre=t (iv) e dieed vE @ 4/ | iEdd an i i deea B
T H I

4 feu T fawe A 9 Wl 3T g

Options :

70819161753, @)~ (b)-(0), (c)-(iii), (d)-(iv)

20819161754, (@)-(i), (b)-(iv), (c)-(1), (d)-(ii)

70819161755, (@)-(1i), (b)-(1), (c)-(iv), (d)-(iii)

20819161756, (@-(ii), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 20 Question Id : 70819118863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The truth table for the follnwing If}g ic circuit is :

Ae }

=
B e o
Options:
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819161757.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819161758.
A B L'
0 0 1
0 1 0
1 0 1
1 1 0
708191617509.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819161760.



Question Number : 20 Question Id : 70819118863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
=9 feu 7o wifse aftay & foru Gega 9ol 2

Ae —
B e }

Options:
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819161757.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819161758.
A B Y
0 0 1
0 1 0
1 0 1
1 1 0
70819161759.

70819161760.



A B Y

0 0 0

0 1 1

1 0 0

1 1 1

Physics Section B

Section Id : 708191797
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911077
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118864 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses4 g and 16 g respecttvol}-' are moving with oqual kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 ¢ FR 16 o T F 3 fIv2 T0A Tfaw Foneh § qAA €1 3T dad g F g
A28 WnaHFAH_ F

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

s : x LT
of escape velocity v, such that o; = ||— < vg. Thevalue of xwillbe .

\y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118865 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves pmduced in a stretched string if

the tension is increased by 4%, willbe ____ %.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118866 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118867 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfPxQ=0Qx P, theanglebetween P anda is B (0° < 0 < 360°). The value of ‘0" will be

b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I PxQ=0xP, P #RQ FdEF I ((P<0<30) % ‘CFIA ____°
&l

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819118868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118868 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TF IOFAVIE ST T (A9 SO F UF SR 9 R § EG i €| 0 F A H
52 K %t FHl &% W 50! S 3 A A It ¢ B A Ffead FHR 7
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118869 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small sphoros each of mass 10 mg are susponded froma point b}-‘ threads 0.5 m Inng.
They are equally charged and repel each other to a distance of 0.20 m. The charge on each of

a L )
the sphere is 1 WO e walue k' will be

[Given g =10 ms 2]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118869 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

21 &7 Tirel, T Weis 1 2o 10 my ©, 0.5 m ol i gRY e fareg 1 fofciferd &1 @ st
o = = LY " . r = = = = l'ﬂ ; . e

RT STAT9TE F T F U T F .20 m g0 T Wi F € | e et T SR - X e

A TAA _ Fml

[ e: g=10 ms™2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118870 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and — 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of 0.5 m. The
electrostatic force acting between the spheresis __ x10 IN.

1
Given : 4me,= —— Sl unit
| " 9x10° ]
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118870 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
YUY ST % < FHEH 9s Mefl W 2.1 nC AT 0.1 nC F AGA 2| 59 S H1 Ty A
A FR05 m #1 g W@ fen mn 21 51 3 el & da ferfagma . x1079
N 2|

N
[fe & : dmeg= —— SI A

9 x 10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118871 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The peak electric field produced by the radiation coming from the 8 W bulb at a distance of

. X [upc V o . . : - ) ;
10 m is E \’— — . The efficiency of the bulb is 10% and it is a point source. The value of
T m ’
Xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118871 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

8 W o el oiea 9 a1 9wl fafeeol gr e 9 10 m & 0 & 4l fag W, Fafs 9 o &l
& & = o) - i = X '_‘ ll't & 2 o)

T 10% 7 AR T8 fa &0 2, 01 T fod 44 o J& — BRI R

T m

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118872 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle POR having 3 wires of resistance
2 () each and leaves by the comer R. The currents : | inampereis

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118872 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 TR, FoTH o 1 Wi 2 0 €, B 99 U W9ag 9 PQR F FH P H 6 A F1 F1E 9 749
FHR Y AR A I W FAR__ A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118873 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavolc-ngth of an K-ra}-' beam is 10 A. The mass of a fictitious particle having the same

" , X i :
energy as that of the X-ray photons is ;h kg. The valve of xi8 . . - ..

(h=Planck’s constant)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118873 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

feplt X-fobon o=t =1 AR 10 A B 39 Hiowq W 1 g=qum, fowst e o9 X-fm & W
WA, %hkg'&ﬁ‘ﬂl TWaRAR _____E

(h="cii T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId : 708191798
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required?: Yes



Sub-Section Number : 1
Sub-Section Id : 7081911078

Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118874 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following species has unequal bond lengths ?
Options:

XC‘F4
70819161771.

SiF,
70819161772

70819161773. SF,

BF,
70819161774

Question Number : 31 Question Id : 70819118874 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfafan ofiis § 9 #F =9 § A= oranar s99H ¢ 7

Options:

70819161771, CFa

70819161772, i

70819161773. SF,



70819161774, Bt

Question Number : 32 Question Id : 70819118875 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10 0]

Options:

I3

=

70819161775, 1-11%10

11 x10-9

=

70819161776.

I3

% 10

=
=]
|

70819161777.

70819161778, 1.77 %1076

Question Number : 32 Question Id : 70819118875 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ca(OH), 1 511 § faeraa 2 ;

(e 2 : Ca(OH), F1 5@ # faerad HwA=5.5 % 10~ 9]

Options :

]

70819161775, 1-11x10

70819161776, 1-11>10

[E*)

70819161777, 177> 10

rir BV e
70819161778, 177 * 10



Question Number : 33 Question Id : 70819118876 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the followf_ng statements is FALSE for h}-'::lrophilic sols 7

Options :
70819161779, Lhey do not require electrolytes for stability.

70819161780. These sols are reversible in nature.

70819161781. Their viscosity is of the order of that of I—TED.

70819161782. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819118876 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frfafad woel § 9 Soreel Siel & oy HF 91 376 2?2

Options:

70819161779, T EFC & o A Toel &1 SEvaswa T8l ol § |
1 Tt TR T 3 A

70819161780.

208191617g1. TV TAFEl et ST € 2l ¥

20819161782, 3 Hiel AT & whied & & wFd €|



Question Number : 34 Question Id : 70819118877 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of bond dissociation enthalpy of halogens is :
Options :
70819161783, F2> Ch” Bra> Iy

70819161784, 127 Bra> (> Iy

70819161785, 2~ Bra> x> 1

CL> F,> Br,> L,
70819161786, ~ 2 27 27 2

Question Number : 34 Question Id : 70819118877 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TSl i AT TaETeH URied 1 Wl % €
Options :
70819161783, 27 Cl2” Bra> I

70819161784, 127 By Ch> I

70819161785, Clo” Bra> Fo> I
Cl,> F>> Br,> 1,

70819161786.

Question Number : 35 Question Id : 70819118878 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The method used for the purification of Indium is :
Options :
70819161787, Van Arkel method

70819161788, |duation

70819161789, Zone refining

70819161790. vapour phase refining

Question Number : 35 Question Id : 70819118878 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sfeaw & yfsw F fere waim =t samwe fafy &
Options:

70819161787, A1 S fafe

70819161788. ° '

70819161789, 101 e

70819161790, 1 FAET TR

Question Number : 36 Question Id : 70819118879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :

Options :



70819161791. iy

70819161792. €

o,
70819161793. =

—

C,H,
70819161794, 3

Question Number : 36 Question Id : 70819118879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fefafay § @ fFa 7 AfufFn +39F 979 CO 30— T2 Fa 82

Options :

70819161791. i

70819161792, ©

70819161793.

C,Hg
70819161794,

Question Number : 37 Question Id : 70819118880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement 1 :

aand 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement I :
At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819161795, Both Statement | and Statement 1l are true.

70819161796. Both Statement I and Statement Il are false.

70819161797, Statement 1 is true but Statement 11 is false.

70819161798. Statement 1 is false but Statement 11 is true.

Question Number : 37 Question Id : 70819118880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAIFAfmmE .
T o TR 79 3-TF B 1 A9 § = T Aga 79 32 FF, Sehauid IiEd
ol 1 T 2

FOTI:  FHLF O T R F AT e wY EAay 9o 2
ST FOFI F o A1 8 T faed] # | W 3T A it :
Options :

20819161795, oFi R 1 71 HeM 11 T &
20819161796, SFl & I A2 HeA 11 HEA Z
20819161797, FIT1 T € W HIA 11 579 &

LR o
70819161798, 1 FHA & W RITI T €



Question Number : 38 Question Id : 70819118881 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :
Options :
70819161799, W 4n and Ag

70819161800. Cu, Zn and Ni

70819161801, C¢ Cuand Ag

70819161802, 2 Niand Ag

Question Number : 38 Question Id : 70819118881 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819161799, W £n T Ag

70819161800, Cu- Z£n T Ni

70819161801, =% Cu T Ag

70819161802, 2 Ni Tl Ag



Question Number : 39 Question Id : 70819118882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFg™ (i) [CoNHz)P* () [NiCl*~ (iv) [Cu(NHy),J**
Options :
70819161803, (1) > (if) > (iv) > (i

70819161804, (1) > (iii) > () > (iv)

70819161805, (Hi) > (iv) > (if) > (3

70819161806, (1) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819118882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

freaferfan § & % o1 %9, U T Hee Sl F1 3T JEEE A0 & Fad 0 TH & ged §
TR Tk | =afem €7

() [FeF >~ (i) [CoNH,) P+ (i) [NiCLP~ (iv) [Cu(NH,),*

Options:
70819161803, (1) > (i) > (iv) > (1)
70819161804, (1) = (i) > () > (iv)

70819161805, i) > (iv) > (i) > ()

70819161806, (1) > (1) > (iii) > (iv)



Question Number : 40 Question Id : 70819118883 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 1I :

[f the pH of rain water drops below 5.6, it is called acid rain.

In the light of the above statements, choose the correct answer from the options given
below :

Options :
70819161807. Both Statement | and Statement 1l are true.

70819161808. Both Statement I and Statement 1l are false.
708191618009. Statement 1 is true but Statement 11 is false.

70819161810. Statement | is false but Statement 1l is true.

Question Number : 40 Question Id : 70819118883 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=9 2 Fyq feu 7w %

FAT1:  TEAEG I F A F pH ~5.6 Tl T

FATI : 9 F oA F pH AfE 5.6 T = R 9= A1 39 79wl Fad 2 |

S Foi % feru Freafefan fawedi § & T SW 9RT ;

Options :

70819161807, ST AT 1 T4 HAT 11 FA &

20819161808, S LT 1 A T 11 575 &

708191618009. EWIW%WEWH W%



20819161810, P11 3THA & T FRATI T &

Question Number : 41 Question Id : 70819118884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :

70819161811. Hydrochloric acid

70819161812. Sodium hydroxide

70819161813, [Vitric acid

70819161814, AAmmonia

Question Number : 41 Question Id : 70819118884 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Taforfa Al # F FF = ATE Giegm Trer fd § foew Teee fTaH F 1@ gdeE §

e 3 fer firema 37

Options :

70819161811. RTEZIlI

70819161812, MeTH TRETHRS

70819161813, T%'% l



70819161814, SN

Question Number : 42 Question Id : 70819118885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The major product of the following reaction is :
NO,
® Ao

H,50,

-

Options :

70819161815

[:::::f:><ifjfi?
: | o,
70819161816.
NO,
70819161817, [:::::]Hfﬁhkﬁ#ﬂl\%ﬁ
NO,
70819161818, [:::::]#HLHHT#HK

Question Number : 42 Question Id : 70819118885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



frefafaa sifafrn F1 9= s 2

NO,

)\/
S
: : HESC4

Options :

70819161815

[:::::fbﬁfffji?
@)YNOE
70819161816.
NO,
70819161817.[:::]ff\ﬁffl&\
NO,
70819161818. ::::

Question Number : 43 Question Id : 70819118886 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

9

H,CH,CH,CH,CHO
70819161819. B e



70819161820, —1aCHCH,CHO

70819161821, CHaCHCH=CH—CHO

CH,CH,C==CH,

70819161822. CHO

Question Number : 43 Question Id : 70819118886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Frerferfaa sfafEma = ge sae

H,/CO

CH,CH,CH=—/CH
2 > Rh catalyst

Options :
70819161819, CHaCHCH,CH,CHO

70819161820, “HaCHCH,CHO

CH4CH,CH —CH— CHO
70819161821,

CH;CH,C—CH,

70819161822. CHO

Question Number : 44 Question Id : 70819118887 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-br0nm-2-nitmeth}fl benzene
from benzene is :



Options :

70819161823, CH,COCl/ AlCl;, Br,/ AlBry, HNO,/H,50,, Zn/HCI

70819161824, CH,COCl/ AlCl,, Zn-Hg /HCI, Br,/AlBr,, HNO,/H,50,

70819161825, Bra/ AlBry, CH,COCI/AICL, HNO,/H,50,, Zn/HCI

20819161826, INO3/H;S0,, Bry/ AlCl,;, CH,COC/ AlC;, Zn-Hg/HCI

Question Number : 44 Question Id : 70819118887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT H 4-FTH1-2-AES e A= o= & e, 7ei = 98 F9 ¢ :
Options :

70819161823. CH,COCI/ AlCl,, Br,/ AlBr,, HNO,/H,S50,, Zn/HCI

70819161824, CH,COCl/ AlCl,, Zn-Hg /HCI, Br,/AlBr;, HNO;/H,50,

20819161825, Br,/AlBr,, CH,COCI/AICl,, HNO,/H,50,, Zn/HCI

HNO,/H,S0,, Br,/AICl,, CH,COCl/AICl,, Zn-Hg/HCl
70819161826. s/ FyOy Bryf 3 3 / 5, Zn-Hg/

Question Number : 45 Question Id : 70819118888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct order of acid character of the [ nIInwing cnmpnunds ig :

OH COOH COOH COOH

NO, CH,
I 11 111 IV

Options :

70819161827, 1> 1> HI>1V

70819161828, Il >N >1>1V

70819161829, 1> I >V >1

70819161830, 1V > HI>11>1

Question Number : 45 Question Id : 70819118888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frreferfaa nfireni | et o =1 wE FE T

OH COOH COOH COOH
NO, CH,
I 11 I IV

Options :

70819161827, 1> 11> LI>1V

70819161828, =1 >1>1V



70819161829, U > Ml >1TV>1

T
70819161830, 1V > > 11>1

Question Number : 46 Question Id : 70819118889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is “X’ in the given reaction ?

CH,OH -
+ oxalic acid L X

CH,OH (major product)

Options :
CHO

70819161831. SH

CH,OH

70819161832. e

T_|“'f 1,

70819161833. CHh
CH—OH

|
CH,
70819161834,

Question Number : 46 Question Id : 70819118889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fau T sfufE 5 X T E?

CH,OH .

| + oxalic acid L X

CH,0H (major product)
Options :

CHO

70819161831, CHO

CH,OH

70819161832, CHO

ﬁr 1,

70819161833, 12

CH—OH

70819161834. CHy

Question Number : 47 Question Id : 70819118890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,50, Al
: - + +
288 K R
el
NO,
(A) (B) (©)

Correct statement about the given chemical reaction is :
Options :

20819161835, —NH,; group is ortho and para directive, so product (B) is not possible.



70819161836, eaction is possible and compound (B) will be the major product.

70819161837, The reaction will form sulphonated pmduct instead of nitration.

Reaction is possible and compound (A) will be major product.
70819161838.

Question Number : 47 Question Id : 70819118890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNOs, H,50, @\ NO,
288 K
\102
M (©)
Options:

20819161835, —\Ha T Sel an o facrs g : 309 (B) HyE 7R 2

70819161836. SAfafFa ¥4 T 3R (B) Y&A I0UE 2|

20819161837, TesvH & FM T AfHAT HehHS 3= <1 |

70819161838. Afafsrn d9= 7 AR AT (A) F@1 I 2

Question Number : 48 Question Id : 70819118891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Carb}-'lanﬁne test is used to detect the presence of primary amino group in an organic
compound. Which of the following compound is formed when this test is performed with
aniline ?

Options :
NHCH;

70819161839.

70819161840. :

CN

NC

70819161841.

CONH,
70819161842, :::

Question Number : 48 Question Id : 70819118891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T AT § M THA 9 e F ¥ O Fife T e #7 § | et §
T T T1 AT S B € 7 59 T ] U W € 7

Options:

NHCH;
70819161839. :::
: .CN

70819161840.

70819161841.



CONH,
70819161842, :

Question Number : 49 Question Id : 70819118892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of «-anomer of maltose ?

Options :
CH,OH CH,OH
H o H H 0. H
H b
H H H H
HO OH
70819161843,  HO  OH HO  OH
CH,OH CH,OH
H
H
G
HO
70819161844,
CH,OH CH,OH
H ——o0o_H H 0 H
H
OH H )_<_)H H
HO OH
70819161845. H OH H  OH

70819161846.



CH,OH

Question Number : 49 Question Id : 70819118892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

CH,OH

H ——(O. OH
H
Kl
H

OH

Correct Marks : 4 Wrong Marks : 1
A2 § o- U F forg fFrefafias § 4 ot s s =9 g2

Options :
CH,OH CH,OH
H H H —0O H
H H
H H H H
HO OH
70819161843, HO  OH HO OH
CH,OH CH,OH
H 0. H H O. OH
H H
OH H OH H
HO H
70819161844, H OH H OH
CH,OH CH,OH
H O H H 0. H
H H
OH H OH H
HO OH
OH H OH
70819161845.
OH
H

70819161846.

OH OH




Question Number : 50 Question Id : 70819118893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni2* is carried out by dimethyl glyoxime in the presence of NHiDH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819161847 Both Statement I and Statement 1l are true.

70819161848. Both Statement | and Statement 1l are false.

70819161849. Statement 1 is true but Statement 11 is false.

70819161850. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819118893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 21 Fy[ feu o T

FUTL:  Ni2* Ft 9fe=H NH,OH &i 3ftaq # 2eafae remgstifead 3 #7d 2|

FATI:  SEHYA AT U -3 SeE fare 7

I9 FYAl o Tog Frefafiad fawed § 4 98 3 g

Options :

70819161847, ST U 1 T He 11 T7 &

20819161848, 1 HIT 1 A1 FHAT 11 5784 &



20819161849, FI | T T W HUA 1 39 2

20819161850, POV FHA & TG HATI TA €

Chemistry Section B

SectionId: 708191799
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911079
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819118894 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 45 mL (iii) 44 mL

(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819118894 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NaOH 31 1.25 M ¥HiFfes a1 faerm & aqame W fa=n ity | oo fag w frefafag
e e g

(i) 45mL (i) 45 mL (i) 4.4 mL

(iv) 44 mL (v) 44 mL

afe, e S %1 10.0 mL AT fol T @ 6 NaOH faeed # Aerdi e M
(e i )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118895 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/ mis .

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 x 10%]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 52 Question Id : 70819118895 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

FIR F TFF Tl Tl Fr5d T (T0H FR TE 3,506 A T W T SR T0F F 10T e W
TR F T TAN 8, FW F WHed WA kg/m3HE

[FIR =1 Ao Tefd : 63.54 g ; AR H&A1=6.022 x 102]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118896 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig. . (Rounded-off to the nearest
integer)

[h=6.63x10"*]s, c=3.00 x 108 ms !, N, =6.02x 10% mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118896 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T 663 nm F 7 19 fafem S A F aﬁm’ﬁamﬁr#maﬁ?wﬁ%
HIg A & T H1g

AT AFA Sk mol 1HE_ | (Treed quiE )

[h=6.63x10"3*Ts, c=3.00 x 108 ms 1, NA=6.[]2><1023 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118897 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this processis k] mol L (Rounded-off to the nearest integer)

[Use R=8314 ] mol~ K]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TF Y 9 & U H5iE #1293 K WREF 29 2.1 MPa @ 1.3 MPa 24 &, U feR <@ oM
4.3 MPa ¥ favg waf@ fem w0 21 wm & @Ml 3 Kmol 1 H 2 |
(e i )

[R=8.314 ] mol ~ 1K~ 1]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solutionis _____ molal.
(Rounded-off to the nearest integer)

[Ky, =052 K kg mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ife wF vk AB St faeram § 75% fadifsa 2 €1 59 39 faor =it Ao s faeem &
FHAF H25KF g FA e we_ Hewl (Fem s 7F)

[K;, =052 K kg mol 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118899 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Copper reduces NOE into NO and ND2 doponding upon the concentration of

HNO; in solution. (Assuming fixed [Cu?t] and Pyo= sz], the HNO, concentration at

which the t]'uermod}-'namic tendm\c}f for reduction of NO; into NO and ND2 h}-’ copper is

same is 10" M. The value of 2v is . (Rounded-off to the nearest integer)
v . 0 — .q_ T I ‘ﬁ =1. r T ; ‘0 i .l-.l : 2
[Given, ECu3+fCu 0.34 V, ENO;[NO 096 V, EHO;[HOE 0.79 V and at 298 K,

g (2.303) =0.059]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819118899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

'Nog F1 FR GANO TANO, H #9577 F HNO, F Tl T 7 2 & ([Cu?* | 91 fer
T Py =Py, T HITSTY) FHIT GRI NO; FINO 7 NO, # sTafa w1 %1 Fwamfoes wafa

e W

TAA B % o sEwad HNO, 1 iz 10 M @ 2 & 7R & |

(Frefe quis )

\2 -”-, =_-T.En :._T'Eﬁ —0.7
[fear & 298 K W Ecu-+;cu 0.34 V, - 0.96 V, NGE /NG, 0.79 V,
RT

- (2303)=0.059

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118900 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol - (Rounded-off to the nearest
integer)

[R=8314] K~1 mol 1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819118900 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9 1 27°C ¥ 52°C T T8 T U SAT4TsHa i <X Feeish W0 T g Wl 8| Wiewav Sl 5 9
Kmol1H% | (Frehem quiw o)

[R=8314] K T mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 58 Question Id : 70819118901 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal /s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819118901 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

frefafan am argsdl § & fa angeli =1 v faem @ § sorwie & w9 4 wm fFn oW @
| (Ui 3W)
(A) Li B) Na () Rb (D) Cs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819118902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
_BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819118902 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TF fEEAt AR (WA S 29) F1 9er fae § Fae fom gasn o (BM H) @
I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819118903 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH groupis .
(Integer answer)

(A) Sulphanilic acid (B) Picric acid

(C) Aspirin (D)  Ascorbic acid

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819118903 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

%= fou T A § 9 S g fH — COOH TR ¢ | (quis 3m)
(A) TERMfF T (B) TafFs o=
(C) e (D) Ul

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191800
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911080



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o -
If for the matrix, A = { lﬂﬂ , AAT=L,, then the value of o? +p%is:
o

Options :

70819161861, 4

70819161862.

2
70819161863. ~

70819161864, °

Question Number : 61 Question Id : 70819118904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- 1 " [— s — :
THT{-HIE]:@’.-E={. IJEW,AAEIZ%',mwM|54$rm=l%':

.[.1
Options :

70819161861, 4

70819161862,

2
70819161863. ~

70819161864, °



Question Number : 62 Question Id : 70819118905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a 3 %3 matrix with det(A)=4. Let R, denote the it row of A. 1f a matrix B is
obtained by performing the operation R, — 2R, +5R, on 2A, then det(B) is equal to :

Options:

70819161865, 1°

70819161866. SV

70819161867, °4

g
70819161868. e

Question Number : 62 Question Id : 70819118905 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A T 3% 3 S § 31 det(A) =4 | AR, A A F 7 G0 F 290A F1 AT 24 R

T R, — 2R, +5R, % WAM § =g B WG & 8, A det(B) T3

Options:

70819161865, 1°

70819161866, 5V

70819161867, °4

>
70819161868, 128



Question Number : 63 Question Id : 70819118906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following system of linear equations
2x +3y+2z=9
3x+2y+2z=9

x—y+4z=38
Options :
70819161869, 9oes not have any solution

70819161870. has a unique solution

70819161871. has infinitely many solutions

70819161872. has a solution («, 3, v) satisfying « + %+ > =12

Question Number : 63 Question Id : 70819118906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o i el
2x+3y+2z=9
3x+2y+2z=9
x—y+4z=8
Options :

70819161869, 1 IS & &l &

70819161870, T 1 UF EA§

70819161871, F ST

¥ ] { 2 7 o 2 q= 7. : | - =
70819161872EFTWW{L\,[:’]H:*]%WQIB oy l_mwm%



Question Number : 64 Question Id : 70819118907 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m
If I, = Icnt”x dx, then :
m
4
Options :
1 1 1
T Ph AN AW E are in A.P.
70819161873, = 4 =2 72 "4 776
20819161874, I2 [ I__1r I3 [ 15, I;1 [ I{.J are in A.P.
1 1 1 il
’ ' are in X g
70819161875, 2 t1a I tls latl
I,+1,, (I. +1=)% 1, + I are in G.P.
70819161876. > * (st 1o latls

Question Number : 64 Question Id : 70819118907 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I, = fcot™ x dx & i :

™

|

Options :

1 1 1
I, +13 " Iz +15" Iy + 1 APHE

70819161873.

70819161874, 2T o 315 [ 11g AP. 5 ¢



1 1 1 §
1|1'1|1'1|IG‘P‘q%
70819161875, 2 "4 B3 T35 4T

L+1, I3+L)% ,+I,GP. ® §
70819161876, =~ * (I3 +15)% I+ 1

Question Number : 65 Question Id : 70819118908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

A function f(x) is given by f(x) = , then the sum of the series

5* +5

| = S = | ------- Al

is oqual o :

Options:

70819161877.

70819161878.

L
h..}| s

70819161879.

G
!“‘]|\E

70819161880.

Question Number : 65 Question Id : 70819118908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



UF FeM f(x), f(x) = 5T fom T &, @ 4oft

5
(39
....... { —_—
|ﬁu 1?0 |zu flzu;
F1 AR AT E
Options :
29
9
70819161877.
49
e
70819161878.
39
9
70819161879.
19
T
70819161880. <

Question Number : 66 Question Id : 70819118909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' 2a
i aip 8

Let a.and pp be therootsof 2 — 61— 2=0. [fa =a"—-p"forn = 1, thenthe value o 2
Jdg

1S
Options :

70819161881.

70819161882.

-2

70819161883.



70819161884, |

Question Number : 66 Question Id : 70819118909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
aj — 2ag

T 2 bx-2=0 F YA TN F A n > 1 FAWa, = ls"%J?iTT'qﬁmﬂ%:
oo l)

Options :

70819161881.

70819161882.

-2

70819161883.

70819161884.

Question Number : 67 Question Id : 70819118910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

at 1-at

The minimum value of f(x)=a" +a , wherea, x € R and a > 0, is equal to :

Options :

70819161885, ' 1

2 l
70819161886. o

.

70819161887.



2a
70819161888.

Question Number : 67 Question Id : 70819118910 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f(x)=a*"+a! @ Tl a, x e R T4 a > 0 &, & FA09 AF = ¢

Options :

at+l
70819161885.

ael
70819161886.

2\/a
70819161887.

2
70819161888.

Question Number : 68 Question Id : 70819118911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3log.2x dog.2x

_ e” Be ™ 4 He05

The integral _[ diip
oHloge:

- - } T . .
I 503]%?1 ;:*,:.2]“&& dx, x >0, is equal to :

(where c is a constant of integration)

Options :

=

log, | x2+5x 7| +¢
708191618809.

¥ i oo
70819161890, 1108/ ¥~ +ox ~7itc



1
EIOB{, x2+5x 7|+ c
70819161891.

loge Vx® + 5x
70819161892.

Question Number : 68 Question Id : 70819118911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D._'E]U'EPZ'L' | 502](;{;?.7_1.‘

T | _ dy, x>0, R T :
e-l]ngixl

| 503](?&11‘ }-,02]05?1;

(¥e ¢ U THFA 3= 2)

Options :

log. |22 +5x 7] +c¢
70819161889. =

. 2 o=
70819161890, 1108e/ X" 13T 71 ¢

; !

ol +3x—T|+c
70819161891.

log. VX% +5x —7 +c
70819161892. :

Question Number : 69 Question Id : 70819118912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If o, B € R are such that 1-2i (here = —1) is a root of z2+az + =0, then (a —p) is equal
to:

Options :

70819161893, 2



70819161894,

—
!

70819161895.

=1

70819161896.

Question Number : 69 Question Id : 70819118912 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

"

oo, peRE FFF UL+ act =0 FIEFA1-2i (T 2= -1%) & T (o p) THE :
Options :

70819161893.

70819161894.

~]

70819161895.

~]

70819161896.

Question Number : 70 Question Id : 70819118913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve x%+2y?=2 intersects the line x + y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options :



11
b tan | —|
4 )
70819161897.
== i
_I m_-n ]' T
2 \ —]:/'
70819161898.
” A
Z 4 tan 1] ki |
2 \ ?l‘/'
70819161899,
2 =
70819161900.

Question Number : 70 Question Id : 70819118913 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 9, 22+ 22=2, Wl x+y=17H 9 fgell P 991 Q W Fea 3, T W w2 PQ g1 Y| foig W
] TR E

Options:
3 S5
=~ + tan 1|i
2 \ 4 )
70819161897.
T (1)
ity m_n ]' i
2 -.'—]:/'
70819161898.
- i
Z + tan 1|i|
2 '-?l‘/'
70819161899.
.':T 1
— = Jan w-—|
2 =

70819161900.



Question Number : 71 Question Id : 70819118914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The shortest distance between the line x —y=1 and the curve 2= 2y is
Options :

g
2
70819161901.

%)
£
rJ]

70819161902.

70819161903.

b | -

70819161904.

Question Number : 71 Question Id : 70819118914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@l x—y=1 TN T x2=2y F =9 FI FAa9 g0 ¢ :

Options :
R
2
70819161901.
1
2.2
70819161902.

70819161903.



b=

70819161904.

Question Number : 72 Question Id : 70819118915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 7
o e . X ¥ :
A hyperbola passes through the foci of the ellipse = | j— =1 and its transverse and
’ 16
conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options:
~a V.
70819161905, ° 16
5 o
1
70819161906. :
2 2
AW
>
70819161907, © 2
7 o)
x*—y-=9
70819161908. &

Question Number : 72 Question Id : 70819118915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) N,
T s, %:1 1 Al & A A E T T ST S A o
T ST & < SR AT S F TR ¢ | S ST SchRIs 1 TUAE UF g,  Sfaneed
& T E



Options :

2

S ]

= NN
70819161905, ° 16

2 ]2

i
70819161906. :

.12 12

5 a1
70819161907.

o 3

xr~— =9
70819161908. B

Question Number : 73 Question Id : 70819118916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

—
Pis (2, —1, 1), then the projection of OP on this plane is of length :

Options :

[z
]—
V3

708191619009.
B
11

70819161910.
2
7

70819161911.
2

70819161912.



Question Number : 73 Question Id : 70819118916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e wHaa, fagai A(1,2,3), B(2,3,1) TH1C(2, 4, 2) ¥ 3 9 g1 Afs O 7 foig & an P, fag

(2, ~1,1) % 1 58 0@ W OP ¥ Wiy 1 waré & -

Options :

z
|
V3

708191619009.
2
11

70819161910.
2
7

70819161911.
2
’;ill_

70819161912.

Question Number : 74 Question Id : 70819118917 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- 1 n n
lim | — 4 | |

nseln (n+1)2  (n+2)>2

Options :

1
70819161913.

k3| =

70819161914.

5 | is equal to :

: MCQ Option Shuffling : Yes



4

70819161915. o

1
4
70819161916.

Question Number : 74 Question Id : 70819118917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 1 n n n
lim | = 4 | |

xooln (n+12  (n+2)7? (2n - 1)?

Options :

1
70819161913.

1

?
70819161914. ~

1

3
70819161915.

1

4
70819161916.

Question Number : 75 Question Id : 70819118918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegeltarian is :



Options :
bis

70819161917, >

70819161918.

58

70819161919.

14
70819161920. 4°

Question Number : 75 Question Id : 70819118918 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

400 =1fEl 3 T WE H, 160 YA F & 991 TEERT F; 100 YHUA F § 9 IEERT § SR

140 HH & ¥ 791 THTRRT ¢ | ST BTt F U foasiy Fahm 29 1 WA 9 35%, 20% a0

10% 2| 59 998 | UF =i Agi=2d I o ¢ 99 Te W < ¢ o <o 2 A g 6

T T JHIA FH AT T AR G F A ¢
Options :

&F

70819161917, >

70819161918.

58

70819161919.

14
70819161920. 4°



Question Number : 76 Question Id : 70819118919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randomlj,-' chosen element of A leaves remainder 2 when divided h}-‘ 5ig:

Options :
1
4
70819161921.
g
9
70819161922.
S

70819161923, ~

122

297

70819161924.

Question Number : 76 Question Id : 70819118919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 431 1 e i, e e U dF 7 A AR A YRt H
TF I F1 5 fauiem # W I 2 S i €

Options :
1
4
70819161921.
g
9
70819161922.

70819161923.



122

207

70819161924, ~

Question Number : 77 Question Id : 70819118920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If0<x y<wand cosx + cosy — cos(x +y) = ; then sinx + cosy is equal to :
Options :
4
z
70819161925.
V3
y
70819161926.
1.3
70819161927, 2
Kyl
70819161928, <

Question Number : 77 Question Id : 70819118920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%, T‘iT sinx cosy ELEL % :

k| 2

A0 < x, y < 7 T cosx + cosy — cos(x + y) =

Options :

70819161925.



P | =

B

7
70819161926.

13
70819161927. 2

i3
70819161928. 2

Question Number : 78 Question Id : 70819118921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options:

Ey =01x
70819161929,

I3
=
[l
I3
e |
]
o

70819161930.

y=91x
70819161931.

70819161932.

Question Number : 78 Question Id : 70819118921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
HHI x, 3 9991 & UF TT=E A ¥ 5 519741 & UF Fq=4 B § UHa! Fori 1 Fol T F 9
Ty, T A T WA A x B H UHR! Bl Fi Gl W B w gl e

Options :

Zy =01x
70819161929.

=
K~
Il
I3
|
e
o

70819161930.

y= Ol x
70819161931.

70819161932.

Question Number : 79 Question Id : 70819118922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosecl Feat=115Y 4 cas~ M P s haual 10
cosec| 2cot " (3) +cos | = || is equal to:

o S

Options :

56
70819161933, 2

65

33
70819161934,

65
70819161935, °°

75

70819161936.



Question Number : 79 Question Id : 70819118922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

/
; i -1{ 4}
L‘LWHL‘L‘[EL‘UL 1['_}] F cos 11 — |—‘ W%
Sy

Options :
56
70819161933, °°
65
33
70819161934,
5
70819161935, °°
B
70819161936.

Question Number : 80 Question Id : 70819118923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The contrapositive of the statement “If you will work, you will earn money” is :

Options:

70819161937, To earn money, you need to work

20819161938. You will earn money, if you will not work

70819161930. If you will not earn money, you will not work



If vou will earn money, vou will work
70819161940. - iz

Question Number : 80 Question Id : 70819118923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o afe q9 HH F, G991 FHEAA F A S

Options :

70819161937, T TN % RO, T W ey = S ¢

20819161938, T7 T SHHISIH, AT TH HH Tel

70819161939, 21 TH ¥ el FHHISAT, TH FH Tel F

70819161940.
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Question Number : 81 Question Id : 70819118924 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A function fis defined on [ - 3, 3] as

2
Jminl e —gf-l=g=1

I 2w 58

flx) =
where [1] denotes the greatest integer = x. The number of points, where fis not differentiable
mi-5Nk. . ... .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819118924 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[~3,3] ™ UF WeH f 1 gR wfenfim &

i

() = Jmin{ x,2-1%),-2<x<2
SR B (1) o 2atxl=3
e [x] e O < x B (-3, 3) § oA fogell # v, I [ omweA G ¥
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 82 Question Id : 70819118925 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(21‘1}2 y)dx +xdy=0, passes through the intersection of the lines, 2x -3y=1 and
3x +2y=38, then |y(1)[isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819118925 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afe e W (202 - y)dx +xdy =0 F & y=y(x), WA 2x-3y=1 TN 3x+2y=8 F
Ty fag B A S g, @ [y(1)| WRE |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118926 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple of 10,is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118926 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 s ) G v, e e 3n 4 70, 10 %1 U §, H g g &
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819118927 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

% — (e - 1)

If lim LT exists and is equal to b, then the value of a—2b is
=0 ax(e™ 1)

1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 84 Question Id : 70819118927 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A I

Fa : ax ] . = 4 o !
Tfe lim 2 A E F A e b F A e, dla-2b FAAE

=0 ax( e™* — 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118928 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
If the curves lefl and xy=k cut at right angles, then (4k)® is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118928 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

n

I T x=y* T xy =k UF W F THPW W FET §, A @k WRE

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118929 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

The value of _[ 3x? — 3x — 6|dx is

_—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118929 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[132 ~3x—6|dx wwmE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 87 Question Id : 70819118930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the remainder when x is divided by 4 is 3, then the remainder when (2020 + )2 is

divided by 8is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819118930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
afe x # 4 T fafad 0 W I9%A 3 7, A (2020 2202 F1 8 T Fafon FE W 0w
I
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118931 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Aline T’ passing throug,h origin is porpendicu lar to the lines

A

—¥ 1)

it =(B+0i +(-1+2)] +(4+2)k

— A
r i

it =@+2)i+@+2)] +@2+9k

F4

If the co-ordinates of the point in the first octant on ‘I," at a distance of /17 from the point
of intersection of ‘I' and l;" are (a, b, c), then 18(a+b+c) isequal to _____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118931 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
e g § 2R STarel U T, e

A

— 1

it =@+8i +(-1+20] +(@+20k

—
r B

Lt =(+25)i +B+2)] +Q+9)k

W AT | At 1, T AgW ST | O g (a, b, o) F 7 941 & oA fig A g 17
2 @ 18@tbic) WRE__ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819118932 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A line is a common tangent to the circle (x —3)>+1?=9 and the parabola y?=4x. If the two
points of contact (a, b) and (c, d) are distinct and lie in the first quadrant, then 2(a +c) is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118932 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T (x-3)2+12=9 T T 2 =4x F U 0 099 @ 21 g 9w g (o, b) a
(c,d) T & Ao wor =AM A E W2 +o) WRE_ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118933 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— A Y A —3 M M A . .
Let a=1i+aj+3k and b =3i —aj+ k. If the area of the parallelogram whose

. : 7 o : - o
adjacent sides are represented by the vectors a and b is 8v3 square units, then a - b is
equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118933 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T S5 n; L3k T b =3 n,f -k ¥ T T, e g e o T
b¥ H i 8B TR A o b WRE |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



